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QUESTION 1

A patient who exhibits tachycardia, diaphoresis, light-headedness, and visual disturbances may be experiencing
A. Hypoglycemia.

B. Congestive heart failure.

C. Hyperglycemia.

D. Hypotension.

Correct Answer: A

QUESTION 2

Emerging risk factors for CAD include

A. Advancing age, family history, and male sex.

B. Impaired fasting glucose, obesity, and hypertension.
C. Lipoprotein(a), advancing age, and male sex.

D. Homocysteine, lipoprotein(a), and fibrinogen.

Correct Answer: D

QUESTION 3

Running is a locomotor activity similar to walking but with some differences. In comparison to walking, running requires
greater

A. Balance.

B. Muscle strength.
C. Range of motion.
D. All of the above

Correct Answer: D

QUESTION 4
A 150-pound male sets the treadmill speed at 5.0 mph and a 5.2% grade. Calculate his MET value.

A. 36.57 METs.
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B. 10.45 METs.
C. 12.25 METSs.
D. Not enough information to answer the question.

Correct Answer: B

QUESTION 5

Stroke volume is defined as

A. The product of cardiac output and total peripheral resistance.

B. The difference between EDV and ESV.

C. The product of preload and HR.

D. The product of cardiac output andarteriovenous oxygen difference.

Correct Answer: B
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